m Parts Breakdown 6336D
V/rled dbds

Page 1 of 2 8/18/2010



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

©©OO\I\JO§O'|-I>-I>QJI\J—\)5
+H

/ |

b A A &

Part ID
851487-7
266130-9
344391-2
183078-9
183490-3
125091-1
416079-5
651939-6
651939-6
687085-9
654168-0
654168-0
654169-8
654169-8
251464-3
251465-1
192957-0
193691-5
193691-5
125088-0
125105-6
125105-6
629734-2
265999-8
266134-1
911006-2
183078-9
183490-3
414938-7
784637-8
824525-8
824626-2
192599-0
193158-3

Parts Breakdown

Part Name
NAME PLATE, 6336D
TAPPING SCREW PT3X16, 6233DWA
BIT HOLDER, 6233DWA
HOUSING SET, 6236DWBE
HOUSING SET, 6336D
SPEED CHANGE LEVER, 6343DWAE
F/R CHANGE LEVER, 6933FD
SWITCH, 6233DWA
SWITCH, 6233DWA
HOLDER, 6233DWA
SPRING TERMINAL (+), 6933FD
SPRING TERMINAL (+), 6933FD
SPRING TERMINAL (-), 6233DWA
SPRING TERMINAL (-), 6233DWA
FLAT SCREW M6X22, HP2031
F.H. SCREW M6X32, BDF460SH
KEYLESS DRILL CHUCK 13, DP4001
KEYLESS CHUCK 13,6337D
KEYLESS CHUCK 13,6337D
GEAR HOUSING ASS'Y, 6343DWAE
GEAR ASSEMBLY, 6216DWBE
GEAR ASSEMBLY, 6216DWBE
DC MOTOR 14.4V, 6236 DWBE
TAPPING SCREW M4X25, HM1800
T. SCREW ST 4X8,6233DWA
P.H. SCREW M3X8, 6233DWAE
HOUSING SET, 6236DWBE
HOUSING SET, 6336D
BATTERY COVER, 6222DWE
PHIL./SLOTTED BIT 2-45,6337D
PLASTIC CARRYING CASE, 6343DWA
PLASTIC TOOL CSE, 6336D
BATTERY 1422
BATTERY 1434 14.4V NIMH,6337D

Page 2 of 2

Quantity

NN AN DN A A a0 A A aaaaaiNhoo -

6336D

8/18/2010



